QAR y = ax+ b ©] 2L 7] 7|7F 2 0]l y o] —2 o o,
Os Sy =bx+a & THZE?

YA Y
2 2
-1 >
O = o 1 T
®
YA
-1\ O] =z
\—2

71717} 2 0]1l y o] —20|B& g =2, b= -2 o|t},
wrakA] Foj A Aty = —2x 42 0|1
ol agjZ= 5 A (1, 0), (0, 2) & Adrh







e 1 — S
3. T dAstgy = e oty =2x+7 9 T mo} x FOo 2 ZEMQI
A

rot o] ol g oty

121 121 121 121 121
Dy 0% 9% On O

y=-srt19lxHE: 2

y=2x+72 xZH: —g

1 12 11
J—I’_@ 5 —§x+1:2x+7 = <—€, g)
7T\ 111 121

i <2+2)X 5 27 20




stofzt.

=X

o ol

.

ull

6 = (0, 6)

ydH .

(‘5{}01):%x3x6:9




i

d

4 ol

xO AT 2 < x <69 ARy = xEyF HIFoR 1T
gajolmatd ey Tezkel WYt a <y < 771 H Tk o] o, A
a® 27

OO

-2 @1 o0 @ 1 ® 2

8

Ay = x B yE Lo 17HE HPo| 53 dagdrE=
y=x+1o|t}

712717t Fol B2 gk M= f(-2) <y < £(6)
So-1<y<7T

dHBEZ A g =-1




v H7E -5 < v < 29 ATy = x4
o Jemst o2& TR 2L 0, Gzt

o W9lE $A FeRL?

® -1<y<5 @ -2<y<5
® -1<y<5 @—ISySG
® -1<y<6

S

N

N

Q

[ o]

Sy

£(2)=6
whabA] FHgke] Mol 1<y <6




